Matlab control i

while looping



Determine b

M=1 , b1= ||1||
|nitia|izati0n q=M;b="";base=2 M=5, b: ||101"
M=25, b= "11001"
While-looping
- true
r = mod(q,base);
b = int2str(r)+Db;
Loop body g = (g-r)/base;
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function demo dec2bin
M = 67;

B = dec2bin(M);
display(B);

M = 167;
B = dec2bin(M);
display(B);

M = 337;

B = dec2bin(M);
display(B);

end

function b=dec2bin (M)
base = 2;
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% implement the flowchart for dec2bin
% use a while loop to

end
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BIRAABEEnEFtigeneld =

>>n = 2000;

dice = ceil(rand(1, n) * 4);
ind = find(dice == 1);
gene(ind) = "A";

ind = N
gene(ind) = "T";

ind = find(dice == 3);
gene(ind) = "C";

ind = find(dice == 4);
gene Y,
gene(1:10)

dice(1:10)

ans =

'CTCTTTCCAA'

ans =



sR{EAfindIE < » I him=EyRFAB/NIRONITENUE » Hi#FEZRES|I@=indH
sengmEyH > FRB/\IROMTTRER A0 - ANRE4E T Relufk 2y

X = Iinspace(—S 5);
y =

ind = _

I -
plot(x y)
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X = linspace(-5, 5);
n=3;
select = ceil(rand * n);

case 1
y = sign(x);

y = -’ E]ile ::;] v:m Eer E]?)L:)';‘IDe;kt% Windo Help ~
otherwise 1 =
Y = X;
ind = find(y < 0);
Y(lnd) = O’ N //
end L/

plot(_x, V,'r")



A EE{EMinline}§< » BIIX RtanhtYREF > A plot

X = sym('x);
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a = linspace(-5,5);

plot(IN)
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ss = "tanh(x)"

statement = [
-(statement)

SS =

“tanh(x)"

statement =

"diff(tanh(x))"

ans =

1 - tanh(X)A2
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pos/\iAn > EEF BALF T
n=2000;

dice = ceil(rand(1, n) * 6);
countSix = 100; pos = 0;

while I

pos = pos + 1;

if I == 6
countSix = [N ;
end
end
ind = find(dice(1 : pos) == 6);
pos

fprintf('%d * 6 is %d\n',length(ind), sum(dice(ind)));
pos =
558

100 * 6 is 600
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Q Q@ Command

1 function demo()

2 u=1:3; >> demo

3- v=4:6;

5

6 function ab = append(a, b) 1 2 3 4 5 6
7- ab =

fx>>
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1 function demo() =

2 — u=1:3; >> demo

2= v=4:6;

4— p = p =

5

6 function ¢ = innerProduct(a, b) 32

7- - I

fx>>
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1 function demo()

2 u=1:3;

B v=4:6;

4— ' p = outerProduct(u, v)

6 function c = EEN

c — I b:

U % EouterProduct > 3tE @ S2ulii[g=

AER AT BAIFIURYEREY » ThEERET B MERSE)
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o~
Tl

i3k » KmEaklo =

SHlE

p =
4 5 6
8 10 12
12 15 18
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1 function demo()
2— m=2;n=3;
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3— U= reshape(l m * n, m, n);

4 — V = reshape(l : m * n, n, m);
- P—ﬁ

6— sum(sum(P - U * V))

8 function C = product(A, B)

0 - Im n] = size(A);
10— fori=1:m

11~ for j = N

12 - C(, j) = R
112l= end
14 — end
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>> demo
P =

22 49
28 64

ans =
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function demo() >> demo?
p = randperm(4);

A = reshape(p, 2, 2); ans =

d = B (A);

d - det(A) 0
function ans = det2(B) fx>>|
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1 function demol() >> demo

= p = randperm(9);

3— A =reshape(p, 3, 3); ans =

4-  d1 = I

5— d2 = A(1, 2) *det2([A(2 : 3, 1) A2 : 3, 3)]); 0)

6- d3 =,

7-  d = I >>

8 — d - det(A) > >

9 >>
10 function ans = det2(B) Jx >>
11— ans = : ,
12



